BUDGET YEAR 2015-2016 W.C.S.D. PURCHASE REQUEST THIS WILL NOT BE PROCESSED IF ALL ITEMS ARE NOT COMPLETED

ACCOUNT CLASSIFICATION SCHOOL: **Warren County School District ELA Intervention Budget** (Ex. Textbooks) Within Approved Budget OFFICIAL USE ONLY Vendor: (Only One Vendor Per Request) Requested by: Building Approval: Name of Vendor: P.O. #: Rhonda Decker McGraw-Hill Education Principal Date requested: Central Office Approval USPS Address: 12/7/2015 PO Box 182605 Vendor #: Director Bldg:#: Date Approved: Ship to Bldg #: 35 Columbus, OH 43218-2605 Program: 800-334-7344 phone 800-953-8691 fax WCSD BUN # & ACCT. # Item # Description/Code Info. & Dates of Subscription (To Run From - To) Total (Use more than one line if necessary) Price Price Sample 01 1100 000 00 00 000 640 UNV-14215 11.62 34.86 Hanging file folders - legal - 1/5 tab cut 3 01 1110 000 00 00 000 610 As per Attached Quote for Wonders / WonderWorks Materials Quote # SREED-12032015-001 \$ \$ \$ \$ S **ELA Intervention Budget** SHIPPING AND HANDLING 1867.44 Reason for Request: \$ 43,587.81 No If Equipment, Trade-In? Yes Make/Model: **BUDGET APPROVAL:**

Dr. William A. Clark, Superintendent

Mr. James Grosen - Business Administrator (or authorized representative)

ACT082006-E-Purchase Request



Price Quote For:

. . 4

Warren County Sch Dist Rhonda Caudill (caudillr@wcsdpa.org) 185 HOSPITAL DR

Subscription/MCH: Rhonda Caudill (caudillr@wcsdpa.org)

Account Number: 432222

Site Number: 478892

WARREN, PA 16365-4896	Site Number: 478892						
Section Summary	Value of All Materials	Free Materials	Product Subtotal				
Reading Wonders	\$44,973.39	(\$13,036.32)	\$31,937.07				
WonderWorks	\$11,251.14	(\$1,467.84)	\$9,783.30				

VALUE OF ALL MATERIALS	\$56,224.53
FREE MATERIALS	(\$14,504.16)
PRODUCT TOTAL*	\$41,720.37
ESTIMATED SHIPPING & HANDLING**	\$1,867.44
ESTIMATED TAX**	TBD
GRAND TOTAL*	\$43,587,81

^{*} Price firm for 30 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

С	0	m	m	e	nt	S:
n		-	-			

Shari Reed

Sales Representative

Email: shari.reed@mheducation.com

Send Order to: McGraw-Hill Education PO Box 182605 | Columbus, OH 43218-2605 Phone: 1-800-334-7344 Fax: 1-800-953-8691

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.

Page 2 of 7

Quote Number: SREED-12032015-001



Price Quote For:

Warren County Sch Dist Rhonda Caudill (caudillr@wcsdpa.org) 185 HOSPITAL DR WARREN, PA 16365-4896 Subscription/MCH: Rhonda Caudill (caudillr@wcsdpa.org)
Sales Representative: Shari Reed
(shari.reed@mheducation.com)

Account Number: 432222

Site Number: 478892

Send Order to:

McGraw-Hill Education PO Box 182605 | Columbus, OH 43218-2605 Orders_MHE@mheducation.com Phone: 1-800-334-7344

Fax: 1-800-953-8691

* Price firm for 30 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

**Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total., If applicable, actual tax charges will be applied at time of order.

Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Reading Wonders					
Grade K					100000000000000000000000000000000000000
READING WONDERS READING WRITING WORKSHOP START SMART		- I	****		****
GRADE K	978-0-02-119713-2	8	\$10.95	\$0.00	\$87.60
READING WONDERS READING WRITING WORKSHOP VOLUME 1 GRADE	978-0-02-119714-9	8	\$10.95	\$0.00	\$87.60
K READING WONDERS READING WRITING WORKSHOP VOLUME 2 GRADE	0,00002-110714-0	+-+-	410.00	40.00	401.00
KEADING WONDERS READING WRITING WORKSHOP VOLUME 2 GRADE	978-0-02-119650-0	8	\$10.95	\$0.00	\$87.60
READING WONDERS READING WRITING WORKSHOP VOLUME 3 GRADE	978-0-02-119651-7	8	\$10.95	\$0.00	\$87.60
K READING WONDERS READING WRITING WORKSHOP VOLUME 4 GRADE	070-0-02-110001-7	1	\$10.00	40.00	407.00
KEADING WONDERS READING WRITING WORKSHOP VOLUME 4 GRADE	978-0-02-119715-6	8	\$10.95	\$0.00	\$87.60
READING WONDERS READING WRITING WORKSHOP VOLUME 5 GRADE	978-0-02-119716-3	8	\$10.95	\$0.00	\$87.60
K .	070-0-02-110710-0	-	V10.00	ψο.σο	407.00
READING WONDERS READING WRITING WORKSHOP VOLUME 6 GRADE K	978-0-02-119717-0	8	\$10.95	\$0.00	\$87.60
READING WONDERS READING WRITING WORKSHIP VOLUME 7 GRADE K	978-0-02-119578-7	8	\$10.95	\$0.00	\$87.60
READING WONDERS READING WRITING WORKSHOP VOLUME 8 GRADE	978-0-02-119718-7	8	\$10.95	\$0.00	\$87.60
K .	978-0-02-119716-7	0	\$10.85	\$0.00	\$67.00
READING WONDERS READING WRITING WORKSHOP VOLUME 9 GRADE	978-0-02-119719-4	8	\$10.95	\$0.00	\$87.60
READING WONDERS READING WRITING WORKSHOP VOLUME 10	070 0 00 440704 7	8	\$10.95	\$0,00	607.00
GRADE K	978-0-02-119721-7	8	\$10.95	\$0.00	\$87.60
CORE READING READING WRITING WORKSHOP BIG BOOK PACKAGE GRADE K	978-0-02-127498-7	3	\$468.78	\$0.00	\$1,406.34
READING WONDERS BIG BOOKS PACKAGE GRADE K	978-0-02-119336-3	3	\$1,518,15	\$0.00	\$4,554,45
READING WONDERS TEACHING POSTERS CHART GRADE K-1	978-0-02-119529-9	2	\$65.58	\$131.16	*Free Materials
READING WONDERS YOUR TURN PRACTICE BOOK GRADE K	978-0-02-119363-9	10	\$8.82	\$0.00	\$88.20
READING WONDERS TEACHER EDITION PACKAGE GRADE K	978-0-02-119333-2	2	\$553.23	\$1,106,46	*Free Materials
READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADE	978-0-02-119293-9	3	\$182.19	\$0.00	\$546.57
K	970-0-02-119293-9				
READING WONDERS VISUAL VOCABULARY CARDS GRADE K	978-0-02-119368-4	7	\$67.41	\$0.00	\$471.87
READING WONDERS RETELLING CARDS GRADE K	978-0-02-119361-5	2	\$278.25	\$556.50	*Free Materials
READING WONDERS INTERACTIVE READ ALOUD CARDS GRADE K	978-0-02-119369-1	3	\$142.14	\$0.00	\$426.42
READING WONDERS HIGH FREQUENCY WORD CARDS GRADE K	978-0-02-119290-8	4	\$59.10	\$236.40	*Free Materials
READING WONDERS PHOTO CARDS GRADE K-2	978-0-02-119559-6	6	\$170.40	\$1,022.40	*Free Materials
READING 2010 GR K-2 PUPPET	978-0-02-202039-2	3	\$22,98	\$68.94	*Free Materials
READING WONDERS SOUND SPELLING LARGE CARDS GRADE K-6	978-0-02-119515-2	5	\$122.97	\$614.85	*Free Materials
READING WONDERS READING RESPONSE BOARDS GRADE K-1	978-0-02-119557-2	3	\$97.35	\$292.05	*Free Materials
READING WONDERS LEVELED READER PACKAGE 1 OF 30	978-0-02-127470-3	4	\$175.32	\$0.00	\$701.28
APPROACHING GRADE K	870-0-02-127470-5		ψ170.0Z	\$0.00	\$701.20
READING WONDERS LEVELED READER PACKAGE 1 OF 30 ON-LEVEL GRADE K	978-0-02-127471-0	4	\$175.32	\$0.00	\$701.28
READING WONDERS LEVELED READER PACKAGE 1 OF 30 BEYOND	978-0-02-127472-7	. 4	\$175.32	\$701.28	*Free Materials
GRADE K				12 (1200) 20070	
READING WONDERS UNIT ASSESSMENT GRADE K	978-0-02-127094-1	7	\$53.70	\$375.90	*Free Materials
READING WONDERS BENCHMARK ASSESSMENT GRADE K	978-0-02-127081-1	7	\$53.70	\$375.90	*Free Materials
	Grade K S	Subtotal:		\$5,481.84	\$9,860.01
Grade 1					
READING WONDERS READING WRITING WORKSHOP VOLUME 1 GRADE	978-0-02-119652-4	4	\$21.57	\$0.00	\$86.28
1 READING WONDERS READING WRITING WORKSHOP VOLUME 2 GRADE	978-0-02-119728-6	15	\$21.57	\$0.00	\$323.55
1 READING WONDERS READING WRITING WORKSHOP VOLUME 3 GRADE		-			
1	978-0-02-119729-3	10	\$21.57	\$0.00	\$215.70
READING WONDERS READING WRITING WORKSHIP VOLUME 4 GRADE 1	978-0-02-119585-5	4	\$64,68	\$0.00	\$258,72

READING WONDERS LITERATURE ANTHOLOGY VOLUME 1 GRADE 1	978-0-02-119530-5	8	\$21.57	\$0.00	\$172,56
READING WONDERS - LITERATURE ANTHOLOGY VOLUME 2 GRADE 1	978-0-02-114245-3	13	\$21.57	\$0.00	\$280.41
READING WONDERS LITERATURE ANTHOLOGY VOLUME 3 GRADE 1	978-0-02-119531-2	3	\$21.57	\$0.00	\$64.71
READING WONDERS LITERATURE ANTHOLOGY VOLUME 4 GRADE 1	978-0-02-119511-4	15	\$64.68	\$0.00	\$970.20
CORE READING READING WRITING WORKSHOP BIG BOOK PACKAGE GRADE 1	978-0-02-127499-4	2	\$255.69	\$0.00	\$511.38
READING WONDERS LITERATURE BIG BOOKS PACKAGE GRADE 1	978-0-02-119524-4	2	\$813.69	\$0.00	\$1,627.38
READING WONDERS - CLASSROOM TRADE BOOK LIBRARY GRADE 1	978-0-02-129698-9	3	\$216.36	\$0.00	\$649.08
READING WONDERS YOUR TURN PRACTICE BOOK GRADE 1	978-0-02-119532-9	13	\$8.76	\$0.00	\$113.88
READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADE 1	978-0-02-119521-3	2	\$182.19	\$0.00	\$364,38
READING WONDERS VISUAL VOCABULARY CARDS GRADE 1	978-0-02-119537-4	7	\$67.41	\$0.00	\$471.87
READING WONDERS RETELLING CARDS GRADE 1	978-0-02-119538-1	4	\$278.25	\$1,113.00	*Free Materials
READING WONDERS INTERACTIVE READ ALOUD CARDS GRADE 1	978-0-02-119539-8	4	\$122.37	\$0.00	\$489.48
READING WONDERS HIGH FREQUENCY WORD CARDS GRADE 1	978-0-02-119558-9	4	\$119.22	\$476.88	*Free Materials
READING WONDERS LEVELED READER PACKAGE 1 OF 30 APPROACHING GRADE 1	978-0-02-127474-1	5	\$175.32	\$0.00	\$876.60
READING WONDERS LEVELED READER PACKAGE 1 OF 30 ON-LEVEL GRADE 1	978-0-02-127475-8	5	\$175.32	\$0.00	\$876.60
READING WONDERS LEVELED READER PACKAGE 1 OF 30 BEYOND GRADE 1	978-0-02-127476-5	5	\$175.32	\$876.60	*Free Materials
READING WONDERS WEEKLY ASSESSMENT GRADE 1	978-0-02-127088-0	6	\$53.70	\$322.20	*Free Materials
READING WONDERS UNIT ASSESSMENT GRADE 1	978-0-02-127095-8	6	\$53.70	\$322.20	*Free Materials
READING WONDERS BENCHMARK ASSESSMENT GRADE 1	978-0-02-127082-8	6	\$53.70	\$322.20	*Free Materials
	Grade 1 S	ubtotal:		\$3,433.08	\$8,352.78
Grade 2					Pro Carlos Barrella
READING WONDERS LITERATURE ANTHOLOGY GRADE 2	978-0-02-118792-8	10	\$73.80	\$0.00	\$738.00
	978-0-02-118792-8 978-0-02-129699-6	10	\$73.80 \$272.13	\$0.00 \$0.00	\$738.00 \$816.39
READING WONDERS - CLASSROOM TRADE BOOK LIBRARY GRADE 2					
READING WONDERS - CLASSROOM TRADE BOOK LIBRARY GRADE 2 READING WONDERS YOUR TURN PRACTICE BOOK GRADE 2	978-0-02-129699-6 978-0-02-118867-3	3	\$272.13	\$0.00	\$816.39
READING WONDERS - CLASSROOM TRADE BOOK LIBRARY GRADE 2 READING WONDERS YOUR TURN PRACTICE BOOK GRADE 2 READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADE 2	978-0-02-129699-6 978-0-02-118867-3	3 13	\$272.13 \$8.82	\$0.00 \$0.00	\$816.39 \$114.66
READING WONDERS - CLASSROOM TRADE BOOK LIBRARY GRADE 2 READING WONDERS YOUR TURN PRACTICE BOOK GRADE 2 READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADE 2 READING WONDERS VISUAL VOCABULARY CARDS GRADE 2	978-0-02-129699-6 978-0-02-118867-3 978-0-02-118699-0	3 13 3	\$272.13 \$8.82 \$182.19	\$0.00 \$0.00 \$0.00	\$816.39 \$114.66 \$546.57
READING WONDERS - CLASSROOM TRADE BOOK LIBRARY GRADE 2 READING WONDERS YOUR TURN PRACTICE BOOK GRADE 2 READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADE 2 READING WONDERS VISUAL VOCABULARY CARDS GRADE 2 READING WONDERS INTERACTIVE READ ALOUD CARDS GRADE 2	978-0-02-129699-6 978-0-02-118867-3 978-0-02-118699-0 978-0-02-118925-0	3 13 3	\$272.13 \$8.82 \$182.19 \$67.41	\$0.00 \$0.00 \$0.00 \$0.00	\$816.39 \$114.66 \$546.57 \$741.51
READING WONDERS - CLASSROOM TRADE BOOK LIBRARY GRADE 2 READING WONDERS YOUR TURN PRACTICE BOOK GRADE 2 READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADE 2 READING WONDERS VISUAL VOCABULARY CARDS GRADE 2 READING WONDERS INTERACTIVE READ ALOUD CARDS GRADE 2 READING WONDERS HIGH FREQUENCY WORD CARDS GRADE 2	978-0-02-129699-6 978-0-02-118867-3 978-0-02-118699-0 978-0-02-118925-0 978-0-02-118777-5	3 13 3 11 3	\$272.13 \$8.82 \$182.19 \$67.41 \$122.37	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$816.39 \$114.66 \$546.57 \$741.51 \$367.11
READING WONDERS - CLASSROOM TRADE BOOK LIBRARY GRADE 2 READING WONDERS YOUR TURN PRACTICE BOOK GRADE 2 READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADE 2 READING WONDERS VISUAL VOCABULARY CARDS GRADE 2 READING WONDERS INTERACTIVE READ ALOUD CARDS GRADE 2 READING WONDERS HIGH FREQUENCY WORD CARDS GRADE 2 CORE READING DECODABLE READER PACKAGE 6 OF 6 GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30	978-0-02-129699-6 978-0-02-118667-3 978-0-02-118699-0 978-0-02-118925-0 978-0-02-118777-5 978-0-02-119022-5	3 13 3 11 3 5	\$272.13 \$8.82 \$182.19 \$67.41 \$122.37 \$119.22	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$596.10	\$816.39 \$114.66 \$546.57 \$741.51 \$367.11 *Free Materials
READING WONDERS - CLASSROOM TRADE BOOK LIBRARY GRADE 2 READING WONDERS YOUR TURN PRACTICE BOOK GRADE 2 READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADE 2 READING WONDERS VISUAL VOCABULARY CARDS GRADE 2 READING WONDERS INTERACTIVE READ ALOUD CARDS GRADE 2 READING WONDERS HIGH FREQUENCY WORD CARDS GRADE 2 CORE READING DECODABLE READER PACKAGE 6 OF 6 GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 APPROACHING GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 ON-LEVEL	978-0-02-129699-6 978-0-02-118867-3 978-0-02-118699-0 978-0-02-118925-0 978-0-02-118777-5 978-0-02-119022-5 978-0-02-127500-7	3 13 3 11 3 5 5 3 3	\$272.13 \$8.82 \$182.19 \$67.41 \$122.37 \$119.22 \$270.21	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$596.10 \$0.00	\$816.39 \$114.66 \$546.57 \$741.51 \$367.11 *Free Materials \$810.63
READING WONDERS - CLASSROOM TRADE BOOK LIBRARY GRADE 2 READING WONDERS YOUR TURN PRACTICE BOOK GRADE 2 READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADE 2 READING WONDERS VISUAL VOCABULARY CARDS GRADE 2 READING WONDERS INTERACTIVE READ ALOUD CARDS GRADE 2 READING WONDERS HIGH FREQUENCY WORD CARDS GRADE 2 CORE READING DECODABLE READER PACKAGE 6 OF 6 GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 APPROACHING GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 ON-LEVEL GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 ON-LEVEL GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 BEYOND	978-0-02-129699-6 978-0-02-118667-3 978-0-02-118699-0 978-0-02-118925-0 978-0-02-118777-5 978-0-02-119022-5 978-0-02-127500-7 978-0-02-127478-9	3 13 3 11 3 5 3 4	\$272.13 \$8.82 \$182.19 \$67.41 \$122.37 \$119.22 \$270.21	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$596.10 \$0.00 \$701.28	\$816.39 \$114.66 \$546.57 \$741.51 \$367.11 *Free Materials \$810.63
READING WONDERS - CLASSROOM TRADE BOOK LIBRARY GRADE 2 READING WONDERS YOUR TURN PRACTICE BOOK GRADE 2 READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADE 2 READING WONDERS VISUAL VOCABULARY CARDS GRADE 2 READING WONDERS INTERACTIVE READ ALOUD CARDS GRADE 2 READING WONDERS HIGH FREQUENCY WORD CARDS GRADE 2 CORE READING DECODABLE READER PACKAGE 6 OF 6 GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 APPROACHING GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 ON-LEVEL GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 ON-LEVEL GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 BEYOND GRADE 2	978-0-02-129699-6 978-0-02-118867-3 978-0-02-118699-0 978-0-02-118925-0 978-0-02-119022-5 978-0-02-127500-7 978-0-02-127478-9 978-0-02-127478-9 978-0-02-127478-6	3 13 3 11 3 5 3 4 5	\$272.13 \$8.82 \$182.19 \$67.41 \$122.37 \$119.22 \$270.21 \$175.32 \$175.32	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$596.10 \$0.00 \$701.28	\$816.39 \$114.66 \$546.57 \$741.51 \$367.11. *Free Materials \$810.63 *Free Materials
READING WONDERS - CLASSROOM TRADE BOOK LIBRARY GRADE 2 READING WONDERS YOUR TURN PRACTICE BOOK GRADE 2 READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADE 2 READING WONDERS VISUAL VOCABULARY CARDS GRADE 2 READING WONDERS INTERACTIVE READ ALOUD CARDS GRADE 2 READING WONDERS HIGH FREQUENCY WORD CARDS GRADE 2 CORE READING DECODABLE READER PACKAGE 6 OF 6 GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 APPROACHING GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 ON-LEVEL GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 BEYOND GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 BEYOND GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 BEYOND GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 BEYOND GRADE 2 READING WONDERS WEEKLY ASSESSMENT GRADE 2	978-0-02-129699-6 978-0-02-118667-3 978-0-02-118699-0 978-0-02-118925-0 978-0-02-118777-5 978-0-02-119022-5 978-0-02-127600-7 978-0-02-127478-9 978-0-02-127479-6 978-0-02-127480-2 978-0-02-127480-2	3 13 3 11 3 5 3 4 5	\$272.13 \$8.82 \$182.19 \$67.41 \$122.37 \$119.22 \$270.21 \$175.32 \$175.32 \$175.32 \$53.70	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$596.10 \$0.00 \$701.28 \$0.00 \$676.60	\$816.39 \$114.66 \$546.57 \$741.51 \$367.11 *Free Materials \$810.63 *Free Materials \$876.60 *Free Materials
READING WONDERS - CLASSROOM TRADE BOOK LIBRARY GRADE 2 READING WONDERS YOUR TURN PRACTICE BOOK GRADE 2 READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADE 2 READING WONDERS VISUAL VOCABULARY CARDS GRADE 2 READING WONDERS INTERACTIVE READ ALOUD CARDS GRADE 2 READING WONDERS HIGH FREQUENCY WORD CARDS GRADE 2 CORE READING DECODABLE READER PACKAGE 6 OF 6 GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 APPROACHING GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 ON-LEVEL GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 DON-LEVEL GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 BEYOND GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 BEYOND GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 BEYOND GRADE 2 READING WONDERS WEEKLY ASSESSMENT GRADE 2	978-0-02-129699-6 978-0-02-118867-3 978-0-02-118699-0 978-0-02-118925-0 978-0-02-118777-5 978-0-02-119022-5 978-0-02-127478-9 978-0-02-127478-9 978-0-02-127480-2 978-0-02-127480-2 978-0-02-127089-7 978-0-02-127088-7	3 13 3 11 3 5 5 3 4 5 5	\$272.13 \$8.82 \$182.19 \$67.41 \$122.37 \$119.22 \$270.21 \$175.32 \$175.32 \$175.32 \$175.32	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$598.10 \$0.00 \$701.28 \$0.00 \$876.60 \$322.20	\$816.39 \$114.66 \$546.57 \$741.51 \$367.11 *Free Materials \$810.63 *Free Materials \$876.60 *Free Materials *Free Materials
READING WONDERS LITERATURE ANTHOLOGY GRADE 2 READING WONDERS - CLASSROOM TRADE BOOK LIBRARY GRADE 2 READING WONDERS YOUR TURN PRACTICE BOOK GRADE 2 READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADE 2 READING WONDERS VISUAL VOCABULARY CARDS GRADE 2 READING WONDERS INTERACTIVE READ ALOUD CARDS GRADE 2 READING WONDERS HIGH FREQUENCY WORD CARDS GRADE 2 CORE READING DECODABLE READER PACKAGE 5 OF 6 GRADE 2 CORE READING DECODABLE READER PACKAGE 1 OF 30 APPROACHING GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 ON-LEVEL GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 ON-LEVEL GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 BEYOND GRADE 2 READING WONDERS LEVELED READER PACKAGE 1 OF 30 BEYOND GRADE 2 READING WONDERS WEEKLY ASSESSMENT GRADE 2 READING WONDERS WEEKLY ASSESSMENT GRADE 2 READING WONDERS WEEKLY ASSESSMENT GRADE 2	978-0-02-129699-6 978-0-02-118667-3 978-0-02-118699-0 978-0-02-118925-0 978-0-02-118777-5 978-0-02-119022-5 978-0-02-127600-7 978-0-02-127478-9 978-0-02-127479-6 978-0-02-127480-2 978-0-02-127480-2	3 13 3 111 3 5 3 5 3 4 5 5	\$272.13 \$8.82 \$182.19 \$67.41 \$122.37 \$119.22 \$270.21 \$175.32 \$175.32 \$175.32 \$53.70	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$596.10 \$0.00 \$701.28 \$0.00 \$676.60	\$816.39 \$114.66 \$546.57 \$741.51 \$367.11 *Free Materials \$810.63 *Free Materials \$876.60 *Free Materials

Page 4 of 7

Quote Number: SREED-12032015-001



Price Quote For:

Warren County Sch Dist Rhonda Caudill (caudillr@wcsdpa.org) 185 HOSPITAL DR WARREN, PA 16365-4896

Subscription/MCH: Rhonda Caudill (caudillr@wcsdpa.org)

Sales Representative: Shari Reed (shari.reed@mheducation.com)

Account Number: 432222

Site Number: 478892

Send Order to:

McGraw-Hill Education PO Box 182605 | Columbus, OH 43218-2605

Phone: 1-800-334-7344

Fax: 1-800-953-8691

Orders_MHE@mheducation.com

* Price firm for 30 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

**Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.

Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
READING WONDERS READING WRITING WORKSHOP GRADE 3	978-0-02-119111-6	10	\$78.69	\$0.00	\$786.90
READING WONDERS LITERATURE ANTHOLOGY GRADE 3	978-0-02-118998-4	10	\$78.69	\$0.00	\$786.90
READING WONDERS YOUR TURN PRACTICE BOOK GRADE 3	978-0-02-118999-1	11	\$8.82	\$0.00	\$97.02
READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADS 3	978-0-02-119164-2	2	\$182.19	\$0.00	\$364.38
READING WONDERS VISUAL VOCABULARY CARDS GRADE 3	978-0-02-118782-9	7	\$67.41	\$0.00	\$471.87
READING WONDERS LEVELED READER PACKAGE 1 OF 30 APPROACHING GRADE 3	978-0-02-127482-6	4	\$175.32	\$0.00	\$701.28
READING WONDERS LEVELED READER PACKAGE 1 OF 30 ON-LEVEL GRADE 3	978-0-02-127483-3	2	\$175.32	\$0.00	\$350,64
READING WONDERS LEVELED READER PACKAGE 1 OF 30 BEYOND GRADE 3	978-0-02-127484-0	4	\$175.32	\$0.00	\$701.28
READING WONDERS WEEKLY ASSESSMENT GRADE 3	978-0-02-127090-3	6	\$53.70	\$322.20	*Free Materials
READING WONDERS UNIT ASSESSMENT GRADE 3	978-0-02-127097-2	3	\$53.70	\$161.10	*Free Materials
READING WONDERS BENCHMARK ASSESSMENT GRADE 3	978-0-02-127084-2	6	\$53.70	\$322.20	*Free Materials
	Grade 3 S	ubtotal:		\$805.50	\$4,260,27

	Orace 5 5	abtotal.	AND THE RESIDENCE OF THE PERSON OF THE PERSO	4000.00	44,200.21
Grade 4					
READING WONDERS - CLASSROOM TRADE BOOK LIBRARY GRADE 4	978-0-02-129701-6	1	\$272.13	\$0.00	\$272.13
READING WONDERS YOUR TURN PRACTICE BOOK GRADE 4	978-0-02-119057-7	11	\$8.82	\$0.00	\$97.02
READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADE 4	978-0-02-118695-2	1	\$182.19	\$0.00	\$182.19
READING WONDERS VISUAL VOCABULARY CARDS GRADE 4	978-0-02-118697-6	4	\$67.41	\$0.00	\$269.64
READING WONDERS LEVELED READER PACKAGE 1 OF 30 APPROACHING GRADE 4	978-0-02-127486-4	3	\$175.32	\$0.00	\$525.96
READING WONDERS LEVELED READER PACKAGE 1 OF 30 ON-LEVEL GRADE 4	978-0-02-127487-1	4	\$175.32	\$0.00	\$701.28
READING WONDERS LEVELED READER PACKAGE 1 OF 30 BEYOND GRADE 4	978-0-02-127488-8	3	\$175.32	\$0.00	\$525,96
READING WONDERS WEEKLY ASSESSMENT GRADE 4	978-0-02-127091-0	5	\$53.70	\$0.00	\$268.50
READING WONDERS UNIT ASSESSMENT GRADE 4	978-0-02-127098-9	4	\$53.70	\$0.00	\$214.80
READING WONDERS BENCHMARK ASSESSMENT GRADE 4	978-0-02-127085-9	6	\$53.70	\$0.00	\$322.20
	Grade 4 S	ibtotal:		\$0.00	\$3 379 68

	Grade 4 St	- PACOSCILI		40.00	\$3,373.00
Grade 5					11.35171.8625
READING WONDERS YOUR TURN PRACTICE BOOK GRADE 5	978-0-02-119224-3	10	\$8.82	\$0.00	\$88,20
READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADE	978-0-02-119325-7	2	\$182.19	\$0.00	\$364.38
READING WONDERS VISUAL VOCABULARY CARDS GRADE 5	978-0-02-119230-4	4	\$67.41	\$0.00	\$269.64
READING WONDERS LEVELED READER PACKAGE 1 OF 30 APPROACHING GRADE 5	978-0-02-127490-1	1	\$175.32	\$0.00	\$175.32
READING WONDERS LEVELED READER PACKAGE 1 OF 30 ON-LEVEL GRADE 5	978-0-02-127491-8	1	\$175.32	\$0.00	\$175.32
READING WONDERS LEVELED READER PACKAGE 1 OF 30 BEYOND GRADE 5	978-0-02-127492-5	1	\$175.32	\$175.32	*Free Materials

Grade 5 Subtotal:

\$175.32

\$1,072.86 \$31,937.07

Reading Wonders Subtotal:

\$13,036.32

Page 5 of 7

Quote Number: SREED-12032015-001



Price Quote For:

Warren County Sch Dist Rhonda Caudill (caudillr@wcsdpa.org) 185 HOSPITAL DR WARREN, PA 16365-4896

Subscription/MCH: Rhonda Caudill (caudillr@wcsdpa.org) Sales Representative: Shari Reed (shari.reed@mheducation.com)

Account Number: 432222

Site Number: 478892

Send Order to:

McGraw-Hill Education PO Box 182605 | Columbus, OH 43218-2605

Phone: 1-800-334-7344

Fax: 1-800-953-8691

Orders_MHE@mheducation.com

* Price firm for 30 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

**Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If

ISBN	Qty	Unit Price	Free Materials	Line Subtotal
978-0-02-129706-1	2	\$900.72	\$0.00	\$1,801.44
978-0-02-129880-8	2	\$125.88	\$251.76	*Free Materials
978-0-02-129952-2	2	\$98.34	\$196.68	*Free Materials
978-0-02-129946-1	2	\$44.58	\$89.16	*Free Materials
978-0-02-138719-9	4	\$95.46	\$0.00	\$381.84
978-0-02-138718-2	7	\$71.64	\$501.48	*Free Materials
Grade K S	ubtotal:		\$1,039.08	\$2,183.28
978-0-02-129881-5	3	\$125.88	\$0.00	\$377.64
978-0-02-129953-9	3	\$98,34	\$295.02	*Free Materials
978-0-02-129947-8	3	\$44.58	\$133.74	*Free Materials
978-0-02-138720-5	65	\$95.46	\$0.00	\$6,204.90
Grade 1 S	ubtotal:		\$428.76	\$6,582.54
				A DE LEGISTA
978-0-02-129795-5	10	\$8.52	\$0.00	\$85.20
Grade 3 S	ubtotal:		\$0.00	\$85.20
				10.17.2.2.2.2.2.2
978-0-02-126882-5	6	\$8.52	\$0.00	\$51.12
Grade 4 S	ubtotal:		\$0.00	\$51.12
978-0-02-129885-3	7	\$125.88	\$0.00	\$881,16
Grade 5 S	ubtotal:		\$0.00	\$881.16
	978-0-02-129706-1 978-0-02-129808-8 978-0-02-129980-8 978-0-02-129946-1 4 978-0-02-129946-1 5 978-0-02-138718-2 Grade K S 978-0-02-129881-5 978-0-02-129987-8 978-0-02-129947-8 978-0-02-129953-9 978-0-02-129947-8 978-0-02-129947-8 978-0-02-129985-3 978-0-02-129985-5 Grade 1 S	978-0-02-129706-1 2 978-0-02-129808-8 2 978-0-02-129808-8 2 978-0-02-129982-2 2 978-0-02-129946-1 2 978-0-02-138718-2 7 Grade K Subtotal: 978-0-02-129881-5 3 978-0-02-129953-9 3 978-0-02-129947-8 3 978-0-02-129947-8 3 978-0-02-129947-8 3 978-0-02-129955-5 10 Grade 1 Subtotal: 978-0-02-126882-5 6 Grade 4 Subtotal:	978-0-02-129880-8	978-0-02-129706-1 2 \$900.72 \$0.00 978-0-02-12980-8 2 \$125.88 \$251.76 978-0-02-129952-2 2 \$99.34 \$198.68 978-0-02-129949-1 2 \$44.58 \$89.16 978-0-02-138719-9 4 \$95.46 \$0.00 978-0-02-138718-2 7 \$71.64 \$501.48 Grade K Subtotal: \$1,039.08 978-0-02-129881-5 3 \$125.88 \$0.00 978-0-02-129881-5 3 \$99.34 \$295.02 978-0-02-129947-8 3 \$44.58 \$133.74 978-0-02-138720-5 85 \$95.46 \$0.00 Grade 1 Subtotal: \$428.76 978-0-02-129795-5 10 \$8.52 \$0.00 978-0-02-128882-5 6 \$8.52 \$0.00 978-0-02-128882-5 6 \$8.52 \$0.00 978-0-02-128882-5 6 \$8.52 \$0.00 978-0-02-128885-3 7 \$125.88 \$0.00



Price Quote For:

Warren County Sch Dist Rhonda Caudill (caudillr@wcsdpa.org) 185 HOSPITAL DR WARREN, PA 16365-4896 Subscription/MCH: Rhonda Caudill (caudillr@wcsdpa.org)

Sales Representative: Shari Reed (shari.reed@mheducation.com)

Account Number: 432222

Site Number: 478892

Send Order to:

McGraw-Hill Education PO Box 182605 | Columbus, OH 43218-2605 Orders_MHE@mheducation.com Phone: 1-800-334-7344

Fax: 1-800-953-8691

* Price firm for 30 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

**Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.

Product Description	ISBN	Qtv	Unit Price	Free Materials	Line Subtotal

VALUE OF ALL MATERIALS	\$56,224.53
FREE MATERIALS	(\$14,504.16)
PRODUCT TOTAL*	\$41,720.37
ESTIMATED SHIPPING & HANDLING**	\$1,867.44
ESTIMATED TAX**	TBD
GRAND TOTAL	\$43 597 94

Comments:		
1		
1		
1		
1		

School Purchase Order Number:

By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the. Subject to Subscriber's payment of the fees set out above, McGraw-Hill School Education, LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the terms described in the Terms.

of Service. The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified, the initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year terms (each a 'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber.

Signature of School Official